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1. In Topsy Tervy land people walks on their ................

A. head B. leg C. Hand D. feet
2. Meaning of Topsy Tervey = .......... ?
A. left right B. Right Wrong  C. Confusing D. @d

3. How is the seain Topsy Tervy land?
A. of water B. of Sand C. of salt D. of land
4. What is the meaning of Barren?
A. fertile B. sandy C. useful land D. Good Soil

5. Gulliver was

A. a farmer B. a sailor C. a dwarf D. a giant
6.AS ........... as a feather
A. snow B. ox C. light D. warm

7. Add —er or est Strong
A. Strong B. More Stronger C. Strongest D. Masbnger
8. Which is the giant tree?
A. oak B. red wood trees of California
C. Black wood trees D. Neem
9. Name of giant aeroplane
A. Antonov an- 525 B. Antonov an- 255
C. Antonov an- 225 D. Antonov an- 222
10. When land was discovered by gulliver's crew?
A. 16" June 1730 B. 18June 1830
C.16" June 1930 D. 8July 1730
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Q.21. One tenth of a centimeter is equal to-
a) one millimeter b) one meter c) one kikden  d) one decimeter

Q.22. Rupee 95/100 =

a) Rupee 9.5 b) Rupee 0.95 c) Rupee 95 d) .095

Q.23. Rupee 1/5 =

a) 25 paise b) 75 paise c) 20 paise d) 50 paise

Q.24. 1 metre and 7 centimetre =

a) 1.70 m b) 1.007 m c)17.0m ) 1@7m

Q.25. 1/100 of a metre is equal to-

a) 1 mm b) 1m c)1lcm dkm

Q.26. Side of a square is 9 cm. What is the peanwtsquare?

a) 18 cm b) 36 cm c) 81 cm degem

Q.27 Area of a square is 64 sq cm. What is thetleofyeach side of the square?
a) 16 cm b) 32 cm C) 4cm dn8c

Q.28. If the value of one Yuan in Indian rupeeRs$s 5.50. How many Yuan can a person
change for Rs. 11007

a) 20 Yuan b) 2000 Yuan c) 200 Yuan d@DYuan

Q.29. If the perimeter of a rectangle is 60 cm k@mngth of the rectangle is 25 cm. what is

the width of the rectangle?
a) 10 cm b) 20 cm c) 35cm ) 5@&m

Q.30. If the value of one Pound in Indian rupeeRd9s77.76. How many rupees are there i
100 Pounds?

a) Rs. 7.776 b) Rs.777.6 ¢)Rs.7776 d) Rs. 77.076
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31. When was Kutch area of Gujarat faced an eaaltef
a) 26 January 2001 b) 26 February 2001

c) 26 January 2004 d) 26 January 2003

32. Who showed us some special design for housgladeh Jasma's village?
a) Engineers and architects b) Motabapu

c) Neighbour village people d) None of these
33. Scarcity of food is known as
a) Drought b) Famine c) Tornado d) All of these
34. Why Mian Balishtiye's face become white?
(a)When he heard that potato is too hot and woodchlbsving on it to cool it down
(b)Because woodcutter looks like ghost and jinn
(c)Because Mian is innocent
(d)Woodcutter knows black magic
35. In winter season, blowing on hands. Think whiahbe cooler
(a)My hands b) My breath c) Both a+b d) None ofthe

36. Why did Gandhiji and his team start doing the ¢f cleaning?
(a) They want awareness on sensitive issues in thetgoci

(b) They want india clean
(c) They love to work
(d)None of these

37. Only Girls do household work and only boysoditside work. . What we can see in th
sentence?

a) Reality b) Thinking variation
c) Gender Bias d) Eye of a sharp man
38. How do we behave with our servant and cleasiaff ?
a) Behave with arrogant b) Always behave with eespnd wish them too
c) Never wish them d) Sometimes wish and sometimogs

39. When the girls went to the Solapur for the mamnent of basketball, what they are
missing while playing

a) Energy b) Forgot basketball kit
c) Cooperation d) Making mistakes
40. It is type of wind instrument
a) Been b) Guitar c) Flute d) A+D ( both)
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